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Business Studies Cycle Test –V
I. Answer the following 




 


5
1. ____________ is the chance that a firm would fail to meet its payment obligations.

2. Financial leverage is calculated as _______ (D- Debt, E-Equity)

3. Public issue of shares and debentures has to be made under ​​______ guidelines.

4. Give two examples of Current assets.

5. Net working capital is excess of __________ over _________.
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Business Studies Cycle Test – V
II. Answer the following 







5

1. ____________ is the chance that a firm would fail to meet its payment obligations.

2. Financial leverage is calculated as _______ (D- Debt, E-Equity)

3. Public issue of shares and debentures has to be made under ​​______ guidelines.

4. Give two examples of Current assets.

5. Net working capital is excess of __________ over _________.

III. Answer in short

1. What is Trading on Equity?







2
2. Give the formula for Debt Coverage ratio and Debt Service coverage ratio
2
3. What is favourable financial leverage?





2

4. Discuss two factors affecting capital structure




2

5. How does operating efficiency affect Working Capital requirement?

2
IV. Long Answers









5
1. Y Ltd. has invested Rs. 30 lakh at Rs 10 per share and earns a profit before interest and taxes (EBIT) of Rs. 2 lakh. Tax rate is 30%.

(a) 
Calculate earnings per share (EPS) assuming that there is no debt.

(b)  
What would be EPS, if total capital of the company includes Rs 10 lakh, 10% Debentures?

      (c)  Will EPS increase or decrease in case (b)? Explain the reason.   

V. Answer in short

1. What is Trading on Equity?







2

2. Give the formula for Debt Coverage ratio and Debt Service coverage ratio
2

3. What is favourable financial leverage?





2

4. Discuss two factors affecting capital structure




2

5. How does operating efficiency affect Working Capital requirement?

2
VI. Long Answers









5
1. Y Ltd. has invested Rs. 30 lakh at Rs 10 per share and earns a profit before interest and taxes (EBIT) of Rs. 2 lakh. Tax rate is 30%.

(a) 
Calculate earnings per share (EPS) assuming that there is no debt.

(b)  
What would be EPS, if total capital of the company includes Rs 10 lakh, 10% Debentures?

      (c)  Will EPS increase or decrease in case (b)? Explain the reason.   

